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) ) { apdaon four ways in which managerial accounting is useful in planning,
' ‘ (8 marks)

13 Viabek s Tiimited wses 250,000 units of material MX per annum. The purchase cost is
Kab %0 per wmit. Ordering costa are Ksh, 735 per order. Carrying costs are 15% of the
o hase vost

Determane the

0 Fovsomic onder quantity;
(Y Number of orders in a year;
(i) Average inventory.

(1) Total relevant cost.

(12 marks)
X Mighlight five limitations of responsibility accounting. (10 marks)
™ The following data relates to material *KZO' used by Luku manufacturers;
Normal usage 3,900 Kg. Per day
NMimmum usage 2,700 Kg. Per day
Maumum usage 6,000 Kg. Per day
Lead time 6 - 8 days
Economic order quantity 60,000 Kg.
Calculate the:
) Re-order level;
(ii))  Minimum stock level;
(iii)  Maximum stock level;
(iv)  Average stock level.
(10 marks)
I @ Highlight five requircments of a linear programming problem. (10 marks)
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(b) Solo limited manufactures and sells product ‘S15°. The following information relates to
the product.
Ksh
Selling price 900
Variable costs per unit 400
Fixed costs per annum 5,000,000
Determine the:
) Break-even point in units and in shillings;
(i)  Contribution-Sales ratio;
(i)  Number of units to be produced and sold in order to earn a profit of Ksh.
2,000,000.
(10 marks)
(a) Highlight five rules that should be followed when constructing a network diagram.
(10 marks)
(b) Sitra limited intends to invest Ksh. 18,000,000 in either project X or project W. The
following are the expected net cash inflows from the projects,
Project X Project Y
Year Ksh Ksh
1 2,000,000 8,000,000
2 4,000,000 6,000,000
3 6,000,000 4,000,000
4 8,000,000 3,000,000
5 10,000,000 2,000,000
The company’s cost of capital is 14%.
(1) Calculate the Net Present Value (NPV ) of each project.
(ii) .Based on the results in (i) above, advise the management on the project to invest
M (10 marks)
5. (a) Explain four advantages of using the account analysis method in estimation of costs.
(8 marks)
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(b) Kutano limited intends to construct a factory building. The following activities relate to
the project.
Activity Precedi fivi Durati
(Weeks)
- 20
24
20
18
26
34
24
28
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()  Draw a network diagram to represent the above information.
(i)  Determine the critical path and the project duration.

(12 marks)
6. (a) Agesa limited makes and sells one product. The following information relates to the
product for the year 2024.
Units
Production 30,000
Sales 20,000
Ksh.
Selling price per unit 500
Unit cost:
Direct materials 160
Direct labour 80
Variable production overheads 40
Variable selling overheads 40
Fixed costs for the year Ksh.,
Production 480,000
Administration 30,000
Selling and distribution 50,000
Prepare a profit statement using marginal costing technique. (10 marks)
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(b) Kana limited intends to invest in either project S or project T. The folowing are the
expected net cash inflows from the projects.
Project S Project T
Ksh. Ksh.
Year
0 (9,000,000) (13,000,000)
1 3,000,000 4,000,000
2 3,000,000 2,000,000
3 4,000,000 6,000,000
<4 5,000,000 3,000,000
@) For each of the projects, calculate the payback period.
(i)  The management policy is to accept projects whose payback period is two and a
half years or less. Advise the management on the project to invest in,
(10 marks)
7. (a) Amona limited manufactures a single product. The following information relates to the
number of units produced and their respective costs of production over the last seven
years,
Production  Cost of production
(units) (Ksh. ‘Millions?)
Year X Y.
2018 500 100
2019 510 115
2020 516 120
2021 534 130
2022 540 145
2023 544 152
2024 546 155

(i) Using the regression analysis method, determine the estimati

on equation in the
form y = a + bx.

(ii)  Estimate the cost of production for the year 2025 if 600 units are to be produced,

(10 marks)
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(b) Kumbuka Limited requires ballast in four different construction sites.

Site Quantity required
(Tonnes)

A 200

B 400

g 900

D 300

The ballast is to be obtained from three different quarries; X, Y and Z. The quantities
available from each quarry is as shown below.

Quarry Quantity available
(Tonnes)

X 700

Y 500

4 600

The transportation cost of one tonne of ballast (in thousands of shillings) from each of
the quarries to each construction site is as shown below;

Site
A B C D
Quarry
X 5 8 10 4
Y 6 7 11 3
Z 4 9 9 5

Using the least-cost method, determine the:
(i) optimal transportation schedule;

(ii)  minimum cost of transportation.
(10 marks)
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